T4 R (75%)

Section A: Multiple Choice Questions (75%)
R A A, B, C 2D g, R7E— EF,

Each question is followed by four options A, B, C and D. Choose only one answer.

1 540+ (3+2)x2—(15x2)="?

A 420 B
2 5§+21+§:?
4 2 6
A 8i B
12

3 UM A AR EH?

520 C
9E C
12

Which of the following conversion is incorrect?

A 100 m = 10 000 cm

C 80 km=800000cm

4 10 pE - 5%4\%: ;

10 hours — 5% hours = ?

A 4 AT 15 54

4 hours 15 minutes
C 4. it 45 54

4 hours 45 minutes

B

D

5 AFZRNEIEKTRMEZHL?

What is the possibility that fifty thousand is a 6-digit number?

A FHz B

Certainly

T ReE K C

Most likely

1060 D 2150
1 D 8>
12 12
520mm=0.52m
25cm =250 mm
4 NEF 5 4
4 hours 5 minutes
3 )N BF
3 hours
T AR D ST AL PR
Impossible Least likely
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In Diagram 1, triangles W, X, Y and Z are drawn on square grids of equal size.

THM—ARRFIE=AT?

Which of the following is not an isosceles triangle?

’ /
1] / i \\\
T 1/ Diagram 1
AN
N\

A W B X CcC Y Z
KR T I+ K #9148,
In the number sequence below, find the value of K.

2, 4, 7, 14, K, 34, 37
A 15 B 16 C 17 18

1kg500g x 1%:
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10

11

12

13

Mr. Lim has some apples. After selling g of the apples, he still have 6 apples left. How many apples did
Mr. Lim have originally?

A 38 B 41 C 48 D 51

—HF M IS 0845 FF4s, 4R T 2 BT 30 54r ). F F M Ba At & BHAE 4 k2
A Mathematics test starts at 0845 and ends 2 hours 30 minutes later. At what time will the test end?

A 1045 B 1105 C 1110 D 1115

182017 4, PERGGSFULS 18, Lfesh ARy, MegEER 28 ¥ PR 2023 i, PERAFFS
4

Benny was 18 years old in year 2017. His mother was 28 years old when Benny was born. How old will
his mother be in the year 2023?

A 52 B 50 C 48 D 46

A #AT A rohFH K2 RML 3200 M /e LA A B4R —F i 10%. X KA F 48R 4089 3K,

Jack’s salary in October is RM1 320. His salary is increased by 10% in September. Calculate Jack’s salary

in September.

A RM1118 B RM1200 C RM1220 D RM1300

AT R A H AP
Which of the following shows a right angle?

A B C D
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Diagram 2 shows a route map.
{RIRARE  Recreational park

Meiyi’s home

R

A

2 / Diagram 2

EBRNFEH AT ELARBUBEETFRISARRKGEEDR., HHEEREEAT £ km
) B AL o
Meiyi rides a bicycle from home along the shortest route to school but takes the longest route home.

Calculate how many kilometres Meiyi has travelled in total.
A 9.28 B 11.08 C 11.80 D 16.08

15 ZXRA10RAET S04 FEE, MAZAWRA—HET 12 H:8%, FRAEXREATLAEETKX

T3 3 R A0 2 R
Puan Lee sells 504 eggs in 10 days. In the first four days, she sold a total of 132 eggs. Which of the

following calculations is the correct method to calculate the average number of eggs she sold for the

remaining days?
A 504+10-132 B 504-132+10

C  (504-132)+4 D  (504-132)+(10-4)

16 —H¥FFEfo—BAEFHNHESH H RM0.85 fo RM1.05. AR FE T 10 BEREA 16 B TF. o R

AEA 3R L TRV EAT K, FHHEAAT AT S S Ao
An apple costs RM0.85 and an orange costs RM1.05. Jackson buys 10 apples and 16 oranges. Find the

balance received by Jackson if he pays with 3 pieces of RM10 notes.

A RM4.70 B RM4.50 C RM3.70 D RM3.50
4
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Diagram 3 shows a composite shape of a rectangle and a right-angled triangle.

12 cm

>

< >

3cm

3/ Diagram 3

3 cm

6 cm 8 cm

HHERZIH S5 E GRS @Rk,
Calculate the ratio of the area of the shaded region to the area of the unshaded region.

A 4:1 B 7:9 C 5:3 D 9:7

18 FHEAMVARMAS0 ) HE T 15 ANF &, R AP FE4F 15%69 5],
Mr. Huang bought 15 school bags from a factory for RM450 and plans to
get 15% profit from it.

AT VAR IR LR 2 S 692

Which of the following descriptions is correct?

A FEHEMRARMAIS0 EH—AHE
Mr. Huang sells a school bag for RM43.50.
B #EMEE /B &THF RM67.50,
Mr. Huang can earn RM67.50 for selling a school bag.
C  HEMEZHAANP QTR 30%49 ZA.
Mr. Huang can get a profit of RM30% for selling two school bags.
D MK A& PH & TRAF RM517.50,

Mr. Huang can obtain RM517.50 for selling all the school bags.
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HANRF LA R R T AR F LA AR Z 52 80 g

Each of the steel ball on the lever balance has the same mass. On which balance is the mass of one steel

ball equal to 80 g?

’ 500 g} (S%é@) B 3609&) OC@)
A

T se  [roogl % @)
A

MA4MFEHAHAIFENNLAMNAACRHITIPNNHEET. =AM EZEABTH R

Diagram 4 is a pictograph showing the number of computer printers sold in four months by a company. The sales

in the month of March is not shown.

A4 Month /i 47 P ALEL 2 Number of printers

—A anuary | gg wd < < < wd wg <

— A February g <d ¢ 4 | Diagram 4
=HA March
sl April CTETRETET

<« K& 50 & AT

Represents 50 printers

ZAHEE - AR A EE 5 20%. HHE=Z AN E 2,

The sales in the month of March is 20% more than the sales in the months of January and February.
Calculate the sales in the month of March.

A 55 B 60 C 600 D 660
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Table 1 shows the number of students who won different number of medals in the sports events.

= (R FAAHK
Number of medals | Number of students
1 3
2 10
3 5 Z= 1/Table 1
4 2

AAG B L FA 6 FH?

Which pie chart shows the information shown in Table 1?
1 i 10% 4 1 10%

H15% B 3#25%
1 ¥ 15%
3 #25% 2 Hr 50% 2 ¥ 50%
0,
1 ¥ 25% 4 B 10% | 15%
4 M 10%
2 ML 25%
30 15% 2 H 50% 3 ¥ 50%

22 A 2BTETABCDAME ZOREBRERIE,

Table 2 shows the number of marbles in five boxes A, B, C, D and E.

Box & A B C D E
Number of marbles = 2/Table 2
S T M 100 150 140 110 120

SR RAL, B SR G R L R b S T0%, T SR 5 A
%g,%T%%%ﬁ@ﬂ%#%oﬁﬁﬁ@ﬂ%#%%ﬁ@ﬁ%&%%io

In a box of red, blue and yellow marbles, 70% of the total number of marbles are red, %of the remaining

marbles are blue and the rest is yellow. Calculate the difference between the number of red marbles and

the number of yellow marbles.

A 124 B 310 c 372 D 434
7
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Diagram 5 is a Cartesian plane which shows the locations of Shima, post office and shop.
¥y

L 3

; o R
Shop
2 a7 -
% & 5/Diagram 5
Shima
1 [ ] Ee)
Post office
X
0 1 2 3 4 5 6

B IR R A 2km
Seale: 1 unit represents 2 km

Bk R E RBIRER . Akm A RAL, HHEDERNEFETOES,

Shima goes to the shop via the post office. Calculate the distance, in km, of Shima’s journey to the shop.
A 14 B 12 C 10 D 8

24 K3 RaRFTEFEAR I Lo

Table 3 shows the monthly expenses of Ali.

Food and beverages RM 800

A F 2k Car loan

1(1
M (g of salary) % 3/Table 3

#4 Rental RM500
% Insurance RM390
4% 5% Entertainment RM200

2
M 2 A~ R 6 # K2 RM4 2000 4R BTA 3G, #4A6 3 YT K, BT AR A A 8947

Fo WEMEENAME S DSR2

Ali earns RM4 200 per month. After deducting all the above expenses, Alex gives 2 of the remaining

money to his parents and the rest will be his monthly saving. How much can he save per month?

A RMS595 B RM1190 C RM1715 D RM2485
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Table 4 shows the volume of juice in four containers. The volumes of juice in container B and container

C are not shown.

58 5%()
Container Volume (I)
A 60
B
c & 4/Table 4
D 55
ANBRGRFTFHERZTRZ65], WwRERAEBYRATRZAEABZANETEES 20/, HHEE

B CHRITEE,
The average volume of juice in the four containers is 65 | . If the volume of juice in container B is more

than the volume of juice in container A by 20 | , what is the volume of juice in container C?

A 651 B 701 Cc 751 D 85l
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Section B: Subjective Questions (25%)

288 5 BEWIER Answer all the FIVE questions.
BN e EmAaPIEEaItTs. Write your answers clearly in the blanks provided.
BHITENEE X EERIRENS%L.  Show your working, it may help you to get marks.

BMNMAER D HEENMEES A Marks allocated for each question are shown in brackets.

—MROEES— M ELFREKES. KIOFANKE 10cm |, 38R 4 cm,

The perimeter of a square and a rectangle are the same. The length and the width of the rectangle are 10
cm and 4 cm respectively.

(@ B EFRERECEK ? [4 93]
Which figure has a larger area? [4 marks]
s@E Working
EE(Answer): 1(a) _ AYEFRECER K/ has a larger area
(b) FTEFENEREESZD ? [145]
Find the difference between these two areas. [1 mark]
s@E Working

EZE(Answer): 1(b)

10
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Diagram 1 shows a rectangle which is divided into a number of equal parts.

& 1/Diagram 1

(@) SUREBSSLENHE. 193]

Write down the fraction of the shaded parts of the whole diagram. [1 mark]

EZE(Answer): 2(a)

(b) BEBFRNDELAN. [2 93]
Change your answer in (a) into a decimal. [1 mark]
{EE Working

EZE(Answer): 2(b)

(© BHREH—TAMRAERBLZOHNE. SERURREDE. [3 93]
Find the sum of the fraction of the shaded parts represented in the diagram below. Convert your
answer into the simplest fraction. [3 marks]

+ =7

sBE Working

ZZE (Answer): 2(c)

11
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Diagram 2 shows a conversation between Mr. Chong and a bank staff.

FEAL RM12 000 17 7252 31/ 2% /%Mﬁﬁﬁ%ﬁm%om%~%%¥¢%¢ﬂ$£\

. MIBEASE? 20, 5 AE A% 2.0%, LLBAIH L. B
| want to deposit RM12 000 in a R, FRERN 2.3%.

fixed deposit account for one year.

) i Our bank offers two packages. Package 1 gives an annual
How much is the interest?

interest rate of 2% in the first half year and 2.2% in the
second half year, based on simple interest. For Package
SK5E4E Mr. Chong Q the annual interest rate for one year is 2.3%.

2 / Diagram 2
$R47HRR Bank staff

@)  IRIERITHRRFFRMHAVER | SRR ERFEEF L —FERENFIESE
VSEZA [3 53]

Based on the information provided by the bank staff, calculate the interest Mr. Chong will earn

after depositing the sum of money in that bank after one year for the two packages. [3 marks]
sEE Working
ZZ(Answer): 3(a) BtE—/Package 1:RM FtE_/Package 2: RM
(b) ANRIREIRICE | (FEIEBFMECE ? HHA? [2 53]
If you are Mr. Chong, which package would you choose? Why? [2 marks]
B (Answer): 3(b) FRIEHE E7
I will choose Package because

12
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Diagram 3 shows a model building made by a student. The upper

layer of the model is a cuboid. Its base area is %that of the lower layer. gy ¢ <
20cm
o .. . 15 cm
Its height is twice its width.
T EFEEYERRAY Calculate, for the model building, [ 3/Diagram
3

() LEEERIRE [3 53]

volume of the upper layer of the model. [3 marks]
sEBE Working

ZZE(Answer): 4(a)

(b) TEERERIIRFR.

FEE | B HERAE YIRS AR, [2 53]

volume of the lower layer of the model.

Hence, write down the total volume of the model building. [2 marks]

sEBE Working

ZZE (Answer): 4(b)

13
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Diagram 4 shows the volume of water in 4 beakers.

4 | Diagram

4
A B C
(@  LAml RELZ, 8 4 NERAEKIEWRR. [253]
Calculate the total volume, in ml , of water in the four beakers. [2 marks]
s@E Working
EZE(Answer) : 5(a)
(b) LA RERLL, iTEKAIFESAIR, [253]
Calculate the average volume of water, in 1. [2 marks]

s@E Working

ZZ(Answer) : 5(b)

(c) —ZFHMIFEAR C BEIH 20%897K. LA ml A, iHEXNEMERIRIZKEATR. [15]
A student pours out 20% of the water from beaker C. Calculate the volume, in ml, of the remaining
water in that beaker. [1 mark]

sBE Working

2= (Answer) : 5(c)

14



ANSWER %%

FA¢H Section A
1. B 2. C 3. C 4, A 5. C
6. C 1. C 8. A 9. D 10. D
11. A 12. B 13. D 14, B 15. D
16. A 17. D 18. D 19. D 200 D
21. B 22. C 23. B 24. A 25. A
24 Section B
1. (@ IERFRIEFIELLI K // Thesquare has alarger area
(b) 40 cm?

13 4
2. @ = (b) 052 © *
3. (@ B E — / Packagel: RM 252 Bt & Z / Package 2: RM 270

by & E = EHN SAURERSHE.

| will choose Package 2 because more interest can be obtained.

4, (@ 2000cm? (b) 2400cm®; 4400cm?

5. (@ 820 ml (b) 205 ml (c) 96 mi

15



